Gr3 U4 L12 S1

 
Estimation Strategies

 
1. Suzanne bought a pair of sneakers for $39.99 and a dress for $12.24. Which of the following would be BEST for Suzanne to use to ESTIMATE the total amount of money she spent?

$30 + $10

$40 + $20

$30 + $20

2. Jake needs to add 829 and 897.  Which of the following would be BEST for Jake to use to ESTIMATE the sum?

700 + 800
   800 + 900
       700 + 900
800 + 800

3. Lynn needs to subtract 432 from 826.  Which of the following would be BEST for Lynn to use to ESTIMATE the difference?

900 – 400
900 – 500
800 – 400
800 – 500

